PRODOLEM
vown . Refrigevant13da is the work\'ug flud oo Carnot vapor
refrigeration tycle. Operating dota. are sfmc.f(!léd.

EIND: Determine @) H\L compressor and {—wr\:l'wc, power awnd
(b) Hie coetbiclent of performance.
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ASSUMPTIONS ' (1) Each component is anolyzed as o contol volume at
steady state .(2) All processes are intevnally reversible .(3) the ression
ond expamsitn are adiabatic.(H) Kinetic aud potewhal energy eftects

are hegh‘gih\e.

ANALYSLS.  First, £ix each of the principal States (Table A-11€).
State 2 pr=100 btlin®, sat. Nagor => h= 1246 B_“ib} , S¢=0.2169 —%‘%—k
§j:g§2. \ P‘=—LO u’(’/ﬁ&’: ) S|=$z_ = x‘ = 0,9707 3»\‘1 28.1¢ Bw/lb

Shade 3 p, =100 bHi: st liguid 2> hy= 3629 8% s.< 0 018 o

Stoteyt  py=20 /= 354 =53 >X3=0.2628, \,\q.—. 34.673 Bu/lb

@) The compressor power is
We= W(heh) =12 8 (lizge- asay )R

= Ul Biu/win We
The {urbine gower is , ,
Wy =¥ (h~hy) =012)(36.99- 34.0713) = 21,90 Biulmin Wi
&) The eveporator heat fransfer vate is
A= \r\,-"\q\ = 768.%6 cluimin
a

Thua @3—*@& = 5,2
We~Wg



